FFiCh@ 03| | Formulaire de trigonomeétrie

cos’(x) +sin’(x) = ! Xeatd
o cos(a +b) = cos(a)cos(h) —sin(a)sin(b)
Parité - sin(a + b) = sin(a)cos(b) + cos(a)sin(h)
cos(—x) = cos(x) tan(a) + tan(b)
% sin(~x) = —sin(x) tan(a +5) = I —tan{a)tan(h)
tan{—x) = —tan(x)
g o Xea—b
Périodicité —

cos(x +27) = cos(x) C}?S{(a - b\) = §£>/S(iz) CO,Sih) + si?(cz)§in£ff)
Sin(x + 272_) — sin(x) Sta — b) = SIM &) COS{(0) — COS( ) SiNtD )
tan{x + ) = tan(x) tan(a — b) = tan(a) - tan(b)
I + tan(a) tan(b)
X T+x
. produit — somme
cos(rr + x) = —cos(x) |
sin(z + x) = —sin(x) cos(a)cos(b) = E[cos(a +b)+cos(a— b)]
tan(z + x) = tan(x)

. sin(a)sin(b) = [cos(a ~b)—cos(a+ b)]
X&~7T—X '

cos(rr — x) = —cos(x) sin(a) cos(b) =
sin(r — x) = sin(x)
tan(zr — x) = —tan(x)

[sin(a +b) +sin(a—b)]

R — N —

somme — produit

| _ ptq) (p-gq
x(——%—x COS(p)-i-COS(q)—ZCOS( 5 ]co{ 5 j
, r cos(p)—cos(y) :~2sin(p+quin p—qj
COS(E—XJ =sin(x) 2 2
Ju sin(p) +sin(g) = ZSin(ﬁj—q)co{p—qj
sin(—z——x)zcos(x) 2 2
. 1 sin(p) —sin(g) = 25in(p_chos(p+qj
tan| ——x |= =cotan(x) 2 2
2 tan(x)
a <> 2a
T
XSt cos(2a) = cos’ (a) —sin’(a)
— =2cos’(a)—1=1-2sin’(a)
co{§+ x) = —sin(x) . sin(2a) = 2sin(a)cos(a)
2
. tan(2a) = tan(c;)
sin(~ + x) = cos(x) [-tan"q
2 s l+cos(2a) | ., 1 -cos(2a)
cos" a=———"> isin“(qg)= ———-—+-4
7 _ 2 ! 2
tan[~2—+x)~ —cotan(x)
I +cos(a) =2 cos’ ——:- | 1-cos(a) = 2 sin’ g




Formules d'Euler
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cos(B) =5 sin(9) = LA

Formule de Moivre

(cos(@) +isin(8)) = cos(n@)+isin(nd)

Dérivées
sin’ = cos
cos’ = —sin
| 5

tan’ = —— = | +tan"

cos”

I3 ‘ 2
cotan' = ———=-1—-cotan

sin”

Changement d’inconnue

6
Soit A € ]—7{;7{[ ;onpose f = tan(—z—) et alors :

. 2t 1-¢° 2¢
sin(@) = —— | tan{@}=
@) o “cos(é) T (6) 7
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